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A. Yes. Well, the -- typically we do define the
relevant market and examine competitive conditions in
the relevant market. 1 testified that on occasion you
do have the natural experiment of observing, if you
believe that generic entry would dissipate monopoly
power, of observing the effects of generic entry and
seeing whether in fact i1t dissipated monopoly power and
expanded output.

Q. And can you remind us why output iIs important
to look for?

A. Because from the economic standpoint, consumer
harm comes about because of a reduction iIn output
brought about by a monopolist.

The harm to consumers comes from the reduction
in output, and so when we see monopoly power being
dissipated, we see an expansion In output.

Q. And can you remind us, did you see an expansion
of output In oxymorphone ER when Impax launched its
product in January 20137

A. No, 1 did not.

Q. And I believe you testified yesterday that in
your decades of experience studying the pharmaceutical
industry, you have seen instances where a generic
entrant caused an expansion in output. Did I --

A. Certainly -- 1 beg your pardon.
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Q. I™m sorry.

Did 1 get that right?

A. Certainly that generic entry has been followed
by an expansion in output.

Q. And as I recall, yesterday you testified that
iT the brand company does not have monopoly power, then
the analysis stops right there; correct?

A. That"s correct.

Q. But if we assume that the brand company does
have monopoly power, then can you please remind us how
the analysis proceeds.

A. Well, then you proceed to the second prong of
the analysis, whether you®"ve assumed the monopoly
power or found it to exist, which is to ask whether
the settlement at i1ssue was any less effective at
dissipating completely or partially the monopoly power
that you found or assumed than would have transpired
but for the settlement.

So it"s really a test of consumer benefits iIn
two worlds, the world that we actually have with the
settlement that took place and a but-for world where no
settlement happened.

Q. And I believe you testified yesterday that the
relevant but-for world is one iIn which the parties

continue to litigate instead of settling the patent
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case. Is that right?
A. That"s correct.

And the reason for that is that we have no
reason to believe that any alternative settlement
would actually have been acceptable to the parties.
To hypothesize a settlement and say they would have
agreed to i1t would be the purest speculation, and so
the only real alternative we have to the settlement

that we have before us is that the parties continue to

litigate.
Q- And can you remind us what that but-for world
looks like 1n this case.

A. Well, we can be informed quite a bit about
that but-for world by the events that unfolded
actually in the world as we observed them and from what
we understand about the economic incentives of the
parties, in particular Endo.

And what we saw in the actual world was that

Endo continued to acquire patents, both patents that
had been applied for and patents that i1t acquired from

others, and continued to assert them against ANDA

Tilers.
Q. And yesterday you mentioned the Johnson Matthey
patent.
Can you remind us when that patent issued.
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A. That patent issued at the end of 2010. But
Johnson Matthey had put Endo on notice of that pending
patent in 2009.

Q. And Endo in the real world ultimately acquired
that patent; correct?

A. It did. In March 2012.

JUDGE CHAPPELL: What other world would there
have been?

MR. McINTYRE: Huh?

JUDGE CHAPPELL: You asked him about the real

world. What other world would there have been?

MR. McINTYRE: That"s a fair point, Your Honor.

JUDGE CHAPPELL: 1*ve heard him say
"actual world.” 1"m assuming that"s the same thing;
right?

THE WITNESS: Yes, Your Honor.

JUDGE CHAPPELL: Actual world, real world, this

world?

THE WITNESS: The actual things that happened,

the events that actually transpired, as opposed to what

we need to really hypothesize as the alternative to the

settlement.
BY MR. McINTYRE:
Q. And I believe you testified yesterday,

Dr. Addanki, that in your report you assumed, in
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reliance on Mr. Figg®s opinions, that had Impax and
Endo continued to litigate the original patent case to
a final conclusion, that they would not have received a
nonappealable, final judgment until November 2011 at
the earliest. Did I get that right?

A. That"s correct.

Q. And so can you walk us through, beginning with
that point in the but-for world, the issuance of a
Federal Circuit opinion in the patent litigation, how
the but-for world would have played out from that
point.

A. Well, again, 1 just want to remind all of us
that in the actual settlement that we have before us,
Impax and consumers got two things from that
settlement, an entry on a date certain iIn
January 2013 and a license under future Endo patents,
so | think we need to keep those two mileposts in
mind.

In the but-for world, had there not been a
final, nonappealable resolution of the original patent
case until November 2011, I would expect that Endo and
Impax would have been embroiled in continuing patent
litigation from the time of the settlement that we
actually observed for many years after.

JUDGE CHAPPELL: Hold on a second.
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When you say you would expect they would have
been embroiled in continuing patent litigation, is
that an assumption, a prediction, an opinion? What is
that?

THE WITNESS: It is an opinion and a
prediction, Your Honor. It is what I would expect as
an economist looking at what Endo actually did, which
was to sue ANDA fTilers on all the patents that i1t had

and all the patents it was getting as of when it got

them.-tdE9 ye A of theterd saab ecoat wAplgproceednssho 9ssertCID
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And so that"s the basis for my expectation as
an economist and my opinion that this is what would
have happened, that the patent litigation would have
not had any hiatus, 1t would have continued with new
patents.

JUDGE CHAPPELL: So that is an opinion.

Is that based on some type of model or is that
based on the facts as you assume them to be?

THE WITNESS: It"s based on the facts that 1
see that Endo -- what Endo actually did, what I can
infer about Endo"s strategy from those facts, and what

I would assume as an economist would be Endo"s

rational -- what | could infer as an economist would be

Endo"s rational strategy to pursue had it not settled
with Impax.
JUDGE CHAPPELL: AIll right.
BY MR. McINTYRE:
Q. And so, Dr. Addanki, if, as you say, Endo and
Impax would have been tied up in litigation for years

in the but-for world, what does that tell us about
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with an entry from Impax. And any such entry by Impax
would have been a launch at risk.

Q. And what do you mean, that any such entry by
Impax in the but-for world would have been a launch at
risk?

A. What I mean is, as long as Impax and Endo
continued to be embroiled in patent litigation, had
Impax launched before resolution of that litigation,
the launch would expose Impax to potential damages in
the form of lost profits in a patent case.

Q. And remind us, 1 believe you testified
yesterday that you have previously testified as an
expert witness on patent damages? Correct?

A. On several occasions, yes. And | have written
articles about i1t and lectured about it.

Q- And can you explain to us from an economic
perspective what "lost profit damages" refers to.

A. The -- the concept there, Your Honor, 1is
simply that the damages owed by Impax were it found to
be infringing a patent, Endo"s patents in this case,
would be the profit that Endo would have made on each
sale that Impax made in place of Endo.

And given that brand manufacturers, as we
discussed yesterday, sell for higher prices than the

generic manufacturers, that means that on every unit
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and every pill that Impax sold in place of Endo, the
patentee, the lost profit that Endo could claim on
that pill would be greater than the profit that Impax
would actually earn selling that pill, so the exposure
to damages would exceed any profits from the launch.

Q. Dr. Addanki, did you assess Impax®™ economic
incentives and disincentives for launching at risk?

A. Yes, I did.

Q. And what did you conclude?

A. Well, 1 concluded that it was perfectly
reasonable for Impax to view a launch at risk as a
losing proposition, and that"s for two reasons.

One i1s exactly what 1 just said, which is the
potential profit earned by Impax from the launch would
fall short of the lost profit exposure should i1t have
been found liable for infringement and liable for
damages.

That"s exacerbated here by the fact that
Actavis also had a settlement agreement in place, a
preexisting settlement agreement in place, with Endo
which would trigger Actavis®™ entry upon the expiration
of the 180-day exclusivity that Impax could claim.

Once Actavis entered, you would have further
deterioration in Impax®™ profitability with further

damages occurring to harm Endo, and so that just
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risk in the but-for world, how would consumers have
fared?

A. Well, again, if Impax would not have launched
at risk but for the settlement, we know that Impax was
entitled to and actually did launch on
January 1, 2013 and that it has remained on the
market since that time.

But for the settlement, had there been
continued litigation, as 1 fully expect there would
have been because of all I"ve explained so far, and
had Impax not been willing to launch at risk, then
Impax would not have launched at any date before
January 1, 2013, if at all, to date, just based on the
events that have actually occurred in the real world
with the ongoing litigation.

Q. And does your opinion depend In any way on how
the patent suits between Endo and Impax would
ultimately have been resolved?

A. No. This i1s simply a question of whether
consumers would have been better off had Impax not
settled with Endo and taking account of the continuing
litigation that Endo engaged in and under the
assumption that Impax would not have launched at risk.

It doesn™"t matter for purposes of my opinion

there whether ultimately Endo would have prevailed in
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these patent lawsuits or Impax would have prevailed,
because all of those events would unfold after the
dates we"re talking about.

And just to remind us of the facts of what
happened, in 2016 all generics were enjoined from
selling oxymorphone ER, and today Impax is the only
seller of that product.

Q. And so having applied your analysis In this
case, what do you conclude about whether the
Impax-Endo settlement agreement was anticompetitive?

A. Well, based on the facts I"ve analyzed, to
begin with, the correct test iIs a two-part test, a
screen for monopoly power, and if we assume or find
monopoly power, we proceed to the second part. If we
don"t, we can stop the analysis there. The agreement
would not be anticompetitive.

If we assume monopoly power, contrary to my
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screen, what -- can you remind us what your
conclusions are about the relevant market in this
case.

A. The relevant market is no smaller than the
market for long-acting opioids, extended-release
long-acting opioids, in the United States. And Endo
had no monopoly power in that market. Opana ER had no
monopoly power in that market.

Q. Now, before we wrap up, Dr. Addanki, yesterday
we spent some time discussing Dr. Noll®s opinion that
Impax received a large and unjustified payment as of
June 2010 under the Endo credit and no-AG provisions of
the settlement. Do you recall that?

A. 1 do.

Q. And I believe you testified that you reviewed
both of -- both the original report and the rebuttal
report that Dr. Noll had submitted in this case?

A. 1 did.

Q. Did Dr. Noll conduct any expected value
calculations of the Endo credit and no-AG provisions
either separately or in tandem?

A. Dr. Noll did not conduct an expected value
calculation because he acknowledged that there were no
probabilities available to populate such an expected

value calculation.
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MR. McINTYRE: Your Honor, may 1 briefly confer
with counsel?

JUDGE CHAPPELL: Go ahead.

MR. McCINTYRE: We have no further questions at
this time.

JUDGE CHAPPELL: Any cross?

MR. LOUGHLIN: Yes, Your Honor.

JUDGE CHAPPELL: Go ahead.

MR. LOUGHLIN: Your Honor, may 1 approach with
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"Actavis."

MR. HASSI: 1°ve always said "Actavis.” |
heard him say "Actavis,” and I know 1t"s a client of
his, so...

JUDGE CHAPPELL: Thank you.

CROSS-EXAMINAT ION
BY MR. LOUGHLIN:

Q. Good morning, Dr. Addanki.

A. Good morning, Mr. Loughlin.

Q. Now, iIn your report, you discuss what you call
a pure term-split settlement; correct?

A. 1 do.

Q. And by "a pure term-split settlement”™ you mean
a settlement on an entry date without any payment
terms; correct?

A. 1 mean a settlement on an entry date with no
other terms whatsoever.

Q. Okay. 1 mean, there would be some other terms
presumably; right? There would be normal contract

terms, but you mean no terms related to any sort of

payments.
A. 1 mean no terms related to anything other than
whatever you attorneys would need to put in to make an

agreement an agreement, but really no terms of any
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economic import other than an entry date.

Q. Okay. Now, the settlement in this case is not
a pure term-split settlement; correct?

A. That"s correct.

Q. It has a no-AG agreement in it?

A. It has various provisions in it, including a
no-AG agreement.

Q. It has an Endo credit provision in i1t?

A. That"s correct.

Q. Now, Dr. Addanki, going into a settlement
negotiation, all else equal, a branded company prefers
later generic entry to earlier generic entry; correct?

A. That"s correct.

Q. And all else equal, a generic would prefer
earlier entry to later entry; correct?

A. Yes.

Q. Now, I want you to assume, Dr. Addanki, that a
brand and a generic company are in settlement
negotiations, and they cannot agree on an entry date in
a pure term-split settlement. Okay?

A. Okay.

Q. And that"s because the generic wants an earlier
entry date and the brand wants a later entry date.

Do you have that?

A. Okay.
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Q. The brand then offers a cash payment to the
generic. Okay? And the parties reach a settlement.
Okay?

A. Okay.

Q. In that hypothetical, you would assume that the
entry date has moved back towards the brand"s later
entry date; correct?

A. So 1f there 1s nothing known other than they
couldn®t reach an agreement on an entry date and -- iIn
your hypothetical, and the only thing that changes is
that the brand says, 1°1l1 pay you some money, you"re
asking can we infer that the entry date -- and what do
you mean by 'the entry date"”? They agreed on an entry
date in your hypothetical.

Q. In my hypothetical, yes, after the payment of
cash, the parties now have reached a settlement,
including an entry date.

And my question is, we know from those facts
that the entry date has moved back in time towards the
brand®s later entry date; correct?

A. When you say "moved back in time,”™ 1°m not sure
what you mean by "moved back in time'"™ because there was
no entry date before.

Q. Okay. Then the entry date has -- the

agreed-upon entry date is now going to be at the
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brand®s later entry date rather than the generic®s
earlier entry date; correct?

A. Well, by hypothesis, i1t"s a date that the
brand agreed to, right, so 1t i1s presumably within
what the brand finds agreeable as an entry date. But
I"m not sure you can call it later than or earlier than
anything, because there is no other entry date on the
table.

Q. Okay. Let"s do it this way then.

A. Okay.

Q. We"re going to do i1t the same way we did it iIn
the deposition. Okay?

So we"re going to assume that the generic wants

a generic entry date no later than January 1, whatever

year you want to pick. Okay?

A. Okay.

Q. The brand wants generic entry no earlier than
June 1 --

A. Okay.

Q. -- whatever year -- the same year.

Do you have that?

A. Okay.

Q. The brand now -- and they can"t settle, okay,
under those terms.

A. Right.

2389
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Q. The brand now makes a cash payment to the
generic. Okay?

A. Okay.

Q- And they reach a settlement.

A. Okay.

Q. The entry date is going to be June 1 or just
about June 1; correct?

A_ It"s your hypothetical. 1 don"t know. If you
tell me it"s June 1, okay, it"s June 1.

Q. I"m not asking -- I"m not stating that as a
hypothetical.

I"m stating that you can infer and you know as
an economist that when I tell you they settled, the
entry date that you"re going to expect is going to be
June 1; correct?

A. Well, 1t has to be agreeable to the brand,

that"s correct.

Q.
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fact that they didn"t agree. They didn"t agree.

Parties do all sorts of things in negotiation.
They~"ve got postures.

So I don"t think you can infer what someone®s
true reservation date was from a negotiation posture in
a settlement negotiation. But in a hypothetical you
can assume anything you like.

Q. Okay. And this 1s a hypothetical.

A. Right.

Q. Okay? Can you follow a hypothetical, sir?
A. Sure.

JUDGE CHAPPELL: 1I1"m trying to follow your
hypothetical also.

MR. LOUGHLIN: Great.

JUDGE CHAPPELL: And the way you presented it,
you gave the witness two possible dates.

MR. LOUGHLIN: That"s right.

JUDGE CHAPPELL: You told him to assume a cash
payment.

MR. LOUGHLIN: Right.

JUDGE CHAPPELL: So if I1"m following your
hypothetical correctly, you®"re giving the witness only
two possible choices, one date or the other date.

MR. LOUGHLIN: That"s not -- I"11 be clearer.

JUDGE CHAPPELL: All right.
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BY MR. LOUGHLIN:

Q. Here"s my hypothetical.

A. Okay.

Q. Going into the negotiation, the generic wants
to come in no later than January 1.

A. So you"re asking me to assume that we know
that.

Q. We know 1t.

A. We know it. Okay.

Q. Okay?

The brand does not want generic entry to occur

before June 1. We know 1t.

A. And again, that"s something we can know what"s
the actual -- and that"s called a reservation date,
Your Honor. We know the actual reservation date for

both parties.

Q.

and cau

Q.

term-sp
A.
Q.-

a cash

Under those --

(Counsel and witness speaking at the same time
tioned by court reporter.)

BY MR. LOUGHLIN:

Under that situation, there will not be a pure
lit settlement; correct?

That"s correct.

But under my hypothetical, now, the brand makes

payment to the generic. Okay?
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A. Okay.

Q- And they reach a settlement. Okay?

A. Okay.

Q. You know, as an economist, that the entry date
they will have agreed upon will be the brand®s entry
date of June 1; correct?

A. So 1T we know what the generic wants and we
know what the brand wants, and you tell me that a
payment made a settlement possible, then yes, 1 would
say that both parties had to have agreed to it, and
because you told me to assume that the brand would
settle for nothing earlier than June 1, 1 would have to
agree that it would be June 1.

Q. And the same is true if I change my
hypothetical to, instead of a cash payment, now there®s
a no-AG provision; correct?

A. Oh, 1 don*t know about that. 1 think that
depends a lot on how a no-AG provision is valued.

JUDGE CHAPPELL: 1I"m not sure 1 understood
your question. He answered it, but were you saying --
was your question, is the same true if there is no-AG
agreement? That"s not what | heard. 1Is that what you
were asking? The same is true 1T there iIs no-AG
agreement?

MR. LOUGHLIN: Rather than a cash payment,



there®s a no-AG provision. 1711 state the hypothetical
differently.

JUDGE CHAPPELL: Is that what you understood?

THE WITNESS: That"s what I understood his
question to mean, Sir.

JUDGE CHAPPELL: All right.

BY MR. LOUGHLIN:

Q. IT1l restate i1t just so the record is clear.

A. Okay.

Q. We"re going to assume that the parties are in a
settlement negotiation, the generic wants to come iIn no
later than January 1. Okay?

A. I1'm listening. Yes.

Q. The brand does not want the generic to come iIn

any earlier than June 1; correct?

A. Okay.
Q. Okay?
They can"t reach a pure term-split settlement;
right?
A. Well, they can"t -- based on the assumptions
you“ve asked me to make, they can"t, that"s correct.

Q. Now, I™m telling you that the brand offers a
no-AG provision and they settle. Okay?
Do you have that in mind?

A. Okay.

2394
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Q. You would expect --
JUDGE CHAPPELL: Hold on, hold on.
Just so I"m following this, there"s no cash

being offered now; correct?
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settle, right, and that"s what you®"re telling me, well,
then i1f they settled, it had to be a date agreeable to
both parties. And if it was a date agreeable to both
parties, | have to assume that 1t was somewhere for
some reason at a point where both would agree to. But
not knowing what the value of the no-AG agreement is,
1T at all, I"m stuck sort of having to make
assumptions about what might have happened in your

hypothetical.
Q-

2396
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dates --

MR. LOUGHLIN:
JUDGE CHAPPELL:

Your Honor --

You®"re giving him two

2397
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MR. LOUGHLIN: In my hypothetical, that"s what
I*"m saying.

JUDGE CHAPPELL: AIll right. Thank you.

I"m not the witness, but I"m going to be
reading the record trying to make sense of the
hypothetical and the answer.

MR. LOUGHLIN: No. 1 appreciate that,

Your Honor. |1 want it to make sense and 1 appreciate
your questions.

BY MR. LOUGHLIN:

Q. Now, Dr. Addanki, I want to go back to my
hypothetical. Okay?

Again, we"re assuming that the generic in the
settlement negotiation does not want to and will not
accept an entry date later than January 1. Okay?

A. Okay.

Q. And the brand will not accept generic entry
earlier than June 1; correct?

A. Okay.

Q. And so under that scenario, there will not be a
pure term-split settlement; correct?

A. If we know that the latest the entry -- latest
entry date the generic would accept is January 1 and
the earliest entry date the brand would accept is

June 1 and we actually know that, then 1 would not

2398



© 0O N o g b~ W N P

N N N N NN P B P P P P PP PR
a A W N P O © ©© N O 0 M W N P O

expect to see a settlement.

Q. Okay. And then the brand provides some other
form of value, net value, going to the generic. It
doesn®"t matter what i1t iIs, whether 1t"s a no-AG,
whether it"s cash or something else. There"s net
value from the brand to the generic, and they settle.
Okay?

A. Okay.

Q. As an economist, you know the settlement entry
date that they"re going to agree on is the brand"s
June 1 date; correct?

A. No. No, you don"t. Because you don"t know

what value the other terms may have conferred on the

brand.
Q- Yes, but I"m -- in my hypothetical, the net
value i1s going from the brand to the generic. Okay?

Do you have that? And that allows there to be a
settlement. Okay?

A. Well, there could be value going from the
brand to the generic, but that doesn®"t mean there
isn"t value that could be accruing to the brand, not
as a payment from the generic, but from whatever other
terms they"ve entered into.

Q- In my hypothetical, the net of the value is

going only to the generic. Okay?
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Do you understand that?

A. Well, the point about net is you"re netting --
you can only net things where they"re opposite flows
between the same points. That"s a net, right. But if
the brand is realizing value that is not coming out of
the generic, then 1 don®t think you can make any
conclusions about where the date i1s going to end up.

Q. Okay. That"s not part of my hypothetical, that
the brand is getting value outside of the generic.
That"s not in my hypothetical. Okay?

In my hypothetical, there are two entry dates.
The brand has a June 1 entry date. The generic has a
January 1 entry date. Right?

A. You“re talking about their reservation dates.

Q. Their reservation dates.

A. Okay.

Q. And now, I"m telling you they can"t -- and they
can"t settle; right?

A. Right.

Q- And now I"m telling you that they do settle
with an agreement where there is value, In whatever
form, flowing from the brand to the generic. Okay?

I"m not talking about whether the brand is
getting some value from outside the settlement.

Within the context of the settlement, the value is
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flowing in the direction from the brand to the
generic. Okay?

A. Look, if you"re asking me to assume that
whatever payment terms that you"re not specifying or
whatever contract terms that you®"re not specifying do
not create any value for the brand, not coming from the
generic, | can assume that, but if you don"t specify
that, then it"s perfectly possible, because it"s
certainly within my experience that when companies
settle, often they try to find things that they can
agree on which generate mutual value iIn order to break
the logjam and settle. And this 1s just from my
experience of three decades of patent cases.

But if you ask me to assume that that is not
possible in your hypothetical, that 1t"s essentially
the same as a payment, you"re asking me to assume that
they wrote a check, they had contract terms, but they
wrote a check, right, then okay, then we"re back to
your fTirst hypothetical.

Q. And in that world, you would expect the entry
date would be the brand"s June 1 entry date; correct?

A. Again, under the circumstance of your
hypothetical, it we know that January 1 is the
drop-dead date for the generic and June 1 is the

drop-dead date for the brand, we would not expect them
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to settle. And then if you then tell me that the brand
wrote a check to the generic, because that"s what
you“re asking me to assume, and that they settled and
ask me what the date i1s, yes, | would expect it would
be June 1.

Q. Now, Dr. Addanki, if the branded product has

monopoly power --

A. Yes.

Q. -- as you use that phrase iIn your report --
A. Yes.

Q. -- 1t can afford to pay some of its expected
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1 Q. Here"s the question.
2 A. Okay.
3 Q. The brand can afford to pay some of its

4 expected profit to the generic to push back the entry
5 date, correct, and still would be better off than
earlier generic entry?
JUDGE CHAPPELL: The question is "can afford

6
-
8 to.” That"s what he 'ca proair afford
9
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"That"s just true.”™ So if the pending question and he
says that"s true, why are you going to the deposition?
He just answered your question, "That"s just true."

MR. LOUGHLIN: Because 1 don"t think he did
answer my question. He gave a long preamble that said
something different from what he said in the
deposition.

JUDGE CHAPPELL: Well, regardless of that, 1

see ""That"s just true,” so how is that not agreement?
MR. LOUGHLIN: Maybe it is, Your Honor, but 1

heard him answering his own question as opposed to my

question. And I"m not sure I still got an answer to my

question, that the brand --

JUDGE CHAPPELL: The last answer was: "It"s
true.”
Go ahead.
MR. LOUGHLIN: Right.
BY MR. LOUGHLIN:
Q. My question was, Dr. Addanki, not simply that
there"s a difference between monopoly and duopoly

profits but that the brand can afford to pay some of
Its expected profit to the generic to push back the
entry date and still be better off; correct?

A. And as | had said, it is certainly true that

when the brand has monopoly power, its monopoly

2406



© 0O N o g b~ W N P

N N N N NN P B P P P P PP PR
a A W N P O © ©© N O 0 M W N P O

2407
profits will be greater than the combined profits in
duopoly, and so yes, It can pay some profit to the
generic. But I"ve mentioned that it"s also true
without monopoly power because the brand will always
earn a greater profit per unit than the generic.

Q. Now, Dr. Addanki, in your report, you discuss
scenarios where parties may not be able to reach what
you term a pure term-split settlement; correct?

A. I'm sorry. | discuss what?

Q. You discuss various scenarios --

A. Various scenarios, Yyes.

Q. -- where the parties to a settlement
negotiation may not be able to reach a pure term-split
settlement. Do you recall that?

A. Yes. 1 discuss -- | make the point that a
pure term-split settlement may not be feasible, and I
point out various economic reasons why without
intending in any sense to exhaust all of the reasons
why .

Q. And one of the reasons that you describe or
one of the scenarios you describe is that a brand and a
generic may not be able to reach a pure term-split
settlement when the brand plans to introduce a new
product that"s going to replace i1ts current product on

the market; correct?
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A. Yes.

Q. And that type of scenario can affect each
party"s preferred entry dates; right?

A. Yes.

Q. And that"s because the brand®s profits depend
on whether generic entry occurs before or after the new
product launch; right?

A. That"s correct.

Q. In other words, if a patentee introduces a new
product before the generic can enter, the prescriptions
would get shifted from the original product to the new
product; correct?

A. Well, if the patentee expects that
prescriptions will get shifted from the original
product to the new product, and indeed the new product
IS Intended as a replacement for the original product,
and the patentee believes that it can move those
prescriptions for whatever reason, the product quality
or what have you, then yes, that i1s exactly right.

Q. And i1f the brand is successful i1In shifting
prescriptions from the current product to the new
replacement product, that leaves fewer prescriptions of
the original product that can be substituted by the
generic; correct?

A. Are you talking now about what is anticipated
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or what iIs -- what occurs?

Q. What is anticipated.

A. In other words, iIf in the anticipation of the
brand 1t is able to move those prescriptions -- well,
the point is not so much what the generic is doing.
The point is what is the brand doing. In other words,
the brand i1s making sales that do not face generic
competition. That"s correct.

Q. And from the generic"s perspective, there are
going to -- it expects that there are going to be
fewer prescriptions available for its product, i1ts
AB-rated generic product, because the brand will have
shifted the market to the new product; correct?

A. But now we"re talking about the generic"s
expectations, so 1T the generic expects that the brand
will be able to move prescriptions before the generic
enters, then there will be fewer prescriptions for the
generic to be able to be substituted for.

Q- And that expectation on behalf of both the
brand and the generic creates further diversion
between the entry dates that the generic would be
willing to agree to and the dates that the brand would
be willing to agree to; correct?

A. What do you mean by "further'?

Q. There would be -- well, 1711 get rid of the
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word "further.” Okay? And I°m discussing the scenario
you discuss in your report.

And the point of your scenario iIn the report

Is that those differences in expectations about what"s
going to happen with a new product creates a divergence
in the acceptable entry dates for the brand and the
generic; correct?

A. 1%ve explained in my report that it can.
That®s correct.

Q. And what you mean by that is the brand again
wants later generic entry; correct?

A. Well, we"ve established 1 think at the outset
that a brand wants later generic entry and the generic

wants earlier generic entry. That"s generally true.

Q- Right.
And 1n the scenario that you lay out in your
report regarding the new -- the potential new

reformulated product, again, the brand wants even
later generic entry so that it has time to get its
product on the market before generic entry; correct?
A. The point I made in the report was fairly
straightforward, and we can go to the pages in the
report, it that"s helpful.
The point I made In the report was simply that

among the factors that can make i1t impossible, as an
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economic matter, for a brand and a generic to agree on
a pure term-split settlement is the prospect that the
brand might introduce a new product that would
supplant or replace the product for which the generic
manufacturer has an ANDA. And 1 explained that. And
It"s just one of the ways in which the brand and
generic may find themselves unable to reach an
agreement, even if all the other stars aligned, was the
point 1 was making there.

Q. And by all the other stars aligning, you
include the fact that the parties may have exactly the

same views of the merits of the patent litigation;

correct?
A. Yes. That contrary to my experience and
common sense, that parties actually would have

identical views over what"s going to happen iIn a patent
lawsuit, yes.

Q. But we"re just talking about what"s in your
report; correct?

A. That"s right.

Q. Now, in that scenario where the parties agree
on the patent merits but still cannot agree on a pure
term-split settlement because of this expectation of a
new product being launched, you would expect that a

payment from the brand to the generic could cause a
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settlement, and if it does, the entry date will move to
the brand®"s later expected entry date; right?

A. As I explained in my report and 1 explained at
length 1n my deposition, the problem for both the brand
and the generic -- and this infuses all of my
discussion of how to analyze these settlements and
what"s feasible -- the problem facing both of them is
there 1s so much intrinsic uncertainty about the
future, and if you settle, you"re agreeing to a course
of action which is going to expose you to uncertainty.

And 1 had mentioned that the prospect of a
product reformulation was one such source of
uncertainty, particularly acute for the generic
because i1t knows or should know from the economic
perspective that i1t doesn™t know anywhere near as much
as the brand knows about what those plans are.

And 1 had explained in my deposition -- and |
think the report is entirely consistent with that --
that 1t"s the mitigation of uncertainty that i1s really
much more important than anything else, and so both
sides may be looking for contractual provisions that
would help mitigate uncertainty attendant upon product
reformulation, upon other things, but that"s the core
of what can bridge the gap when a settlement cannot be

reached otherwise. And this is one of those
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situations.

Q. I"m sorry. What is the core that can bridge
the gap when a settlement cannot be reached otherwise?

A. The mitigation of uncertainty.

Q. And how do they mitigate uncertainty?

A. Well, whatever contractual provisions they get
into that mitigate uncertainty can certainly help
bridge a gap-. And I certainly view the Endo credit
provision here as a provision that, from the economic
standpoint, is helping mitigate uncertainty.

Q- My question, Dr. Addanki, was, iIf the parties
Iin the scenario of a reformulation, potential
reformulation, cannot reach a pure term-split
settlement, okay, because they have different
reservation dates, and then the brand pays cash to the
generic, you would expect -- and then they settle,
okay, you would expect, just like we talked about
before, that the agreed-upon entry date is going to
move to the brand®"s reservation date; correct?

A. As a general matter, your very first
hypothetical really encompasses all of these in the
sense that if you say by assumption we know that the
generic"s entry date, the drop-dead date for the
generic, Is January 1 in your example, and the brand®s

drop-dead date is June 1, and the brand writes the
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generic a check and they settle, the question you
asked then about that hypothetical as to whether that
entry date would be June 1 and I answered yes, it
really i1s the same answer to the question you"re just
asking.

IT there®s a divergence of entry dates and we
assume that to be true and then you would tell me to
assume that there was a payment and a settlement and
ask me what the date is, the answer will be the same.

But if you take it out of the realm of the
payment, then I say, well, 1t depends on what the terms
are because the key to reaching settlement is
mitigating uncertainty.

Q. Do 1 understand that the answer to my question
IS yes?

A. The answer to your question is It"s no
different from your first hypothetical, if that"s what
your hypothetical is.

Q. Dr. Addanki, 1f the answer to my question is
yes, you"re free to say "'yes.'" Okay?

A. 1 guess what 1"m trying to explain to you and
to the court is that it doesn™t much matter what
causes a divergence that results in an inability to
reach a term-split settlement. ITf you ask me to assume

that we know what the reservation dates are and further
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ask me to assume that a payment engendered a
settlement, then the outcome is pretty clear.
Q- Okay. And what 1"m telling you, Dr. Addanki,

Is that 1f 1 ask a yes-or-no question, you can say

yes Oor you can say '‘no. You don"t have to give a
long explanation. You can just answer my question.
Okay?
A. I understand that. But when the hypotheticals
are complicated, 1 think it"s worth explaining them.
Q. Now, in developing your economic framework in
this matter, you did not consider the current legal

standard; correct?

A. I"m an economist. 1"m really not a lawyer of
any kind.

Q. Is that --

A. 1 did not consider legal standards, no.

Q. And your economic framework is --

A. I'm sorry. Excuse me. 1 should amend that
answer a little bit.

I1"m generally aware of an analysis under the
rule of reason, and that is the extent of the guidance,
of the legal guidance to my analysis, so | think that"s
the more complete answer.

Q. Okay. So is the answer then, in developing

your economic framework in this matter, you did
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governing reverse payment settlements?

A. 1°ve not been guided by legal jurisprudence
regarding reverse payment settlements beyond what 1
said about conducting a rule of reason analysis.

Q. Now, your economic framework iIs to compare
expected consumer benefits under the settlement at
Issue compared to expected consumer benefits under
continued litigation; correct?

A. That"s correct.

Q- And the expected value is a mathematical
expected value; correct?

A. "Expected value'™ when we use the term iIn
economics Is a mathematical expectation, which is a
probability-weighted average of the different outcomes
that could occur. That"s correct.

Q. I1t°s a mathematical formula.

A. That"s correct.

Q. And the expected value is a calculation, a
mathematical calculation, based on that formula;
correct?

A. 1t"s a mathematical calculation, that"s
correct.

Q. And for purposes of calculating expected
values, you need information regarding the

probabilities of who"s going to win the patent case;
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correct?

A. As | explained in my testimony and as I explain
In my report, In some instances you do and In some
instances you need not actually utilize probabilities,
which was the question that 1 was asked on direct about
does my opinion here depend upon the probabilities of
the patent litigation outcomes In any way, and my
answer was no, It does not. As It happens iIn this
case, we don"t need to consider those.

Q. I"m not asking about your opinion in this case
yet.

A. Oh.

Q. I"m still just asking about the way that you
calculate expected values under this mathematical
formula. Okay?

A. When you need to evaluate an outcome that"s
inherently probabilistic, then the best you can do, if
It"s an inherently probabilistic outcome, Is to assign
probabilities to the various possible outcomes and
calculate an expected value. That"s correct.

Q. Okay. And as an economist, you would rely on
the expert opinions of others to get the probabilities
of who would win the patent case If you were going to
do an expected value calculation; correct?

A. Certainly 1 would have no opinion as an

2418
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economist about the probabilities involved in the
outcomes of a patent case, so | would be relying on
some other sources of information for that. It could
be other experts. |1 don"t know that that exhausts the
other possibilities, but 1 certainly wouldn®t have any
independent opinion about the probabilities of the
outcomes of a patent lawsuit.

Q. And you read Mr. Figg"s opinion in this -- or
his report in this case; correct?

A. 1 did.

Q. And you saw Mr. Figg opine that it"s not
possible to reduce the odds of winning a patent
litigation to a number that can be plugged into a
formula; correct?

A. 1"m aware that he said that.

Q. And you didn"t actually do an expected value
calculation in this case; correct?

A. 1 didn"t need to.

Q. So that"s a yes, you didn®"t do one?

A. 1 didn"t do one. 1 didn"t need to do one.

Q. And so you didn"t do a calculation of expected
consumer benefits under the settlement; right?

A. Again, there was no need to evaluate any
probabilities because I could reach a definite

conclusion in my analysis without having the result of
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probabilities.
JUDGE CHAPPELL: If that"s a no, you need to
say ""no."
THE WITNESS: And no, 1 did not, sir.
BY MR. LOUGHLIN:
Q. And you didn"t determine an actual expected
entry date under litigation; correct?
A. 1 determined that it would be later than
January 1, 2013 but not by how much. That"s correct.

Q. And you didn*t look at consumer benefits from

continued litigation as of the time of the settlement;

correct?
A. 1 looked at -- I did not. 1 looked at it as of
today.
Q- Right.
You looked at consumer benefits under continued
litigation as of the time of your report, which was in

September of this year; correct?

A. That"s correct.

Q. And as of September, your opinion was that the
expected entry date under continued litigation was
sometime later than January 1, 2013; correct?

A. That"s correct.

Q. And so you did your analysis of expected

consumer benefits under continued litigation knowing
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what actually happened in subsequent patent cases;
correct?

A. Yes.

Q. Now, 1f you were hired in June of 2010 to
assess the expected value of continued litigation, you
might come up with one number in June of 2010 that
would be -- might be different from the expected value
you got in September of 2017; right?

JUDGE CHAPPELL: Just so we"re clear, are you
asking -- because of that magical date, June 2010, are
you wanting him to assume at the time of settlement,
after the settlement or before the settlement? Or does
that have nothing to do with your question?

MR. LOUGHLIN: At the time of settlement. And
thank you for that clarification.

BY MR. LOUGHLIN:

Q. So 171l restate the question. Okay?

IT you were hired, at the time of the
settlement between Impax and Endo, to assess the
expected value of continued litigation, you might come
up with a different value than you did in September of
2017 knowing the outcome of what happened iIn the
subsequent patent cases; correct?

A. It"s -- the answer is yes, but it"s not just

having to do with what happened iIn subsequent patent
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cases. It"s yes, having to do with all of the things
that we know happened as events unfolded from 2010 to
now .

We take account of all of the information we
have at our disposal to come up with the best answer
that we can, so 1 would have come up -- 1 would have
used all of the information at my disposal in June of
2010 had 1 done the analysis at the time of the
settlement, and it may have been a different answer. |
don"t know because 1 haven®t done it.

Q. And if sometime later than today there were
reversals in the court of appeals on some of the patent
decisions that were rendered related to Endo"s patents,
that could cause you to have a third calculation of
expected values under continued litigation, correct, as
of that time; right?

A. Well, again, as | haven"t calculated any
expected values, I would not be calculating expected
values were 1 to do this analysis later than now,
because, as I"ve testified, my opinion does not depend
on expected values iIn this case. It doesn"t need to.

And so my opinion would be the same even if I
were to do this analysis next year or the year after
next In a context in which, as you posited, Endo

patents had been found invalid or decisions had been
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reversed.

Q. But if Endo patents sometime after today were
later found to be i1nvalid or unenforceable for some
reason, reversing some of the district court rulings
that are pending right now, that would -- could cause
you to have a different view of consumer benefits under
the settlement; correct?

A. Because all 1 analyzed was the difference
between consumer benefit under the settlement and what
would happen but for the settlement, nothing that
happens henceforth from now forward iIs going to change
my conclusion that entry but for the settlement would
have been later than January 1, 2013, so | think the
answer @Ra{o-

Q. Well, let me ask it this way.

A. Okay.

Q. Okay?

IT subsequent to today there were reversals by
the court of appeals on cert 8eOEMC /Spa7ettSep the
you a differentwer i1s noTjErTicul 12 Oon exp /difenfu

A.
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So no, 1 haven®t got a first one, | haven t got
a second one, 1 haven®t got a third one.

Q. Okay. Well, can you take a look at the
deposition again at page 49 lines 20 -- and i1t carries
over to page 50 line 3.

A. Page 40 you said? 49.

Q. Page 49.

And I"m looking at line 20, and i1t continues
down to page 50.
Are you there, Dr. Addanki?
A. 1 am.
Q. And do you see 1 asked you, "And i1f subsequent

to today, there were reversals by the court of appeals
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page 49 set it up as a series of hypotheticals, were 1
to be hired to calculate the expected value of
litigation in June 2010, were | to be hired to
calculate the expected value of litigation iIn

June 2017, and so on.

Were 1 to be hired to calculate expected
values, 1 would do 1t. |1 haven"t done it iIn this
case.

Q. Sure.

And if you were hired to do it subsequent to

today and there were reversals iIn the court of appeals,

you may come up with yet a third calculation of

expected values of continued litigation; correct?

A. The expected value of continued litigation that

you calculate at any point in time, you would use all
of the information at your disposal when you do the
calculation. That"s correct.

Q. Now, at the time of the settlement, Impax
didn"t have the information you have today regarding
what has happened In subsequent patent cases; correct?

A. Impax did not.

Q. And at the time of the settlement, Endo didn"t
have the information you have today regarding what has
happened i1n subsequent patent cases; correct?

A. |1t did not.

2425
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Q. And Endo didn"t know if it was going to win at
the district court level in June of 2010; right?

A. 1t did not.

Q. And so that in June of 2010, Endo faced a risk
that Impax would be able to enter the market before
January 1, 2013; correct?

A. Yes.

Q. Now, Dr. Addanki, in your opinion, the only way
to measure whether a settlement is anticompetitive is
to see if the settlement entry date is later than the

expected entry date under continued litigation;

correct?
A. In the situation where your -- you have no
other information to go on, that can be correct.

That"s right.
Q. Well, avoiding the risk of competition is not

an anticompetitive effect, in your opinion; correct?

A. So when there®s no monopoly power, settlements
are i1n general going to be -- settlements of this
nature, settling patent litigation, are not going to be

anticompetitive.
IT you find that there is monopoly power, then
you"re still going to have to ask the question, are

consumers better off with the settlement or without.

The question isn"t what motivated the parties.
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The question is what were the effects of the

settlement.
So a settlement that was intended -- I™m
answering your question -- that was intended to

mitigate or obviate or avoid risk may or may not end up
being anticompetitive. You have to look.

Q. Okay. Well, then I"m going to ask my question
again slightly differently.

A. Okay.

Q. Okay?

Assuming there is monopoly power, avoiding the

risk of competition is not an anticompetitive effect,

In your opinion; correct, Dr. Addanki?

A. So, again, I"m not quite sure how to analyze
your -- interpret your question because a pure
term-split settlement avoids the risk of competition.

I"m not sure what you mean by "avoid the risk
of competition™ beyond the fact that if you have a date
certain, you"ve ruled out entry dates before that date
certain. And that"s true of any term-split settlement
with any terms.

Q. AIll right. Then let me ask it this way then.

IT there i1s monopoly power, In your opinion, a
payment that allows the brand to avoid the risk of

competition does not create an anticompetitive effect;
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correct?

A. Again, for me as an economist, I can"t read
people®s minds. 1 don"t know what motivates either a
brand company or a generic company because | can"t --
I"m not a mind reader. That"s not my expertise.

I can evaluate effects. And i1It"s a question of
the effects. And i1t"s a question of the effects
relative to the but-for world without the settlement.

And so given what I"ve already told you about
any settlement has the effect of mitigating risk,
avoiding risk, 1T you ask me then, well, does the fact
that there was a payment make 1t anticompetitive, the
answer is no. That by itself doesn"t make it
anticompetitive. You have to analyze the effects of it
to see 1T 1It"s anticompetitive.

Q. And by "effects"™ you are not including the fact
that the brand has avoided the risk of competition
before a certain date in the future; correct?

A. Any settlement iIs going to mitigate some risk.
That"s the reason companies do 1t.

So it"s avoiding risk, yes. All settlements
avoid risk.

Q. So the answer to my question iIs yes, that"s
correct; right?

A. It is correct that by itself the avoidance of
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1 risk does not constitute an antitrust problem, in my
2 view, as an economist.
3 Q. Okay. And your opinion is that the entry of a
4 lower-priced generic competitor does not by itself
5 reveal anything useful about whether consumers are
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A. 1-5?
Q. Correct.
A. 1 have 1t.
Q. I1t°s -- on the bottom it should say
"RX 547.0019."
Do you see that?
A. 1 do.
Q. Okay. And do you see In paragraph 317?
A. Yes.
Q. In the very top, you"re talking about the

restriction in output that causes a loss of consumer

welfare.
Do you see that?
A. Yes.
Q. And then the next clause says (as read) the

entry of a low-priced competitor does not, by itself,
reveal anything useful about whether consumers are
better off as a result of the entry, or whether the
incumbent firm had exercised market power or, indeed,

even possessed any market power to be exercised.

Do you see that?
A. 1